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18 19 20
(A) 114,863 116,323 161,073
5,797 7,117 9,030
20,426 20,148 18,188
911 1,070 1412
82,493 82,236 116,539
0 0 0
80,055 80,482 116,539
0 0 0
(B) 114,293 115,794 158,599
76,371 77,054 122,381
49,726 50,621 98,944
26,645 26,433 23,437
37,331 38,169 36,068
12,111 12,435 11,890
18,003 18,078 16,930
(C)=(A)-(B) 570 530 2474
(D)
(E)
(F)=(D)-(E) 0 0 0
(G)=(C)+(F) 570 530 2474
(H) 15,297 15,867 16,397
()=(G)+(H) 15,867 16,397 18,871
590 570 149
Q) 590 570 149
(K) 333,346 333,936 334,506
(L)=(3)+(K) 333,936 334,506 334,655
(M)=(G)+(J) 1,160 1,100 2,623
(N) 348,643 349,803 350,903
(0)=(M)+(N) 349,803 350,903 353,526
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20,429 18573 23,606
334,158 334,727 334,876
333,937 334,507 334,656
323,200 323,366 323,366
220 220 220
354,980 354,051 360,268
5,176 3,147 6,741
4923 3,016 6,249
5,176 3,147 6,741
333,937 334,507 334,656
333,937 334,507 334,656
15,867 16,397 18,871
349,804 350,904 353,527
354,980 354,051 360,268




